- AN SRR
TR R
FREL/RR | R
T RYPR 10752 17p 2 107T# 52 17p »2+1 =
TRIED /P | T RAVE BREAXWEAGREFE
KL P 1078 7p
*
R 10752 17p *d £ =23 n
4 % ff B PR FIE R A B LA AP B
B ER BT ZMIRNI AV Z e La- 1573
flizie B Bt B Ap o PR E LT o
BEBARBE LT > R - P RAT AN ET
WEE R RGEH LB T O b B E 0 TR AN
S RFEEFHL P AORAETERGAFEIEZAL
PRBEER S AT AZRE A E T BRI R
A GHG 7 NEE T - RIRR B AT A
FALFE e 84T & (1063 &) » AMATF ERTF
Wkt n EATTMH & REFEBHE SR
= oo 2R iE AR 0 1 4738 P é#fﬂ?gﬁ%}% ST B ARG
FI1IH #2H



https://zh.wikipedia.org/wiki/%E5%94%90%E6%9C%9D
https://zh.wikipedia.org/wiki/%E5%8C%97%E5%AE%8B
https://zh.wikipedia.org/wiki/%E5%94%90%E5%AE%A3%E5%AE%97
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https://zh.wikipedia.org/wiki/%E8%94%A1%E8%A5%84

